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Equations importantes du tome C (Modifications apportées par Simon Vézina)
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Valeurs numériques
g =9,8m/s?
e=16x10"19 C
1eV=16x10"19J
k=9%x10°N-m?2/C2
¢=3,00x10% m/s
h=6,63x10"34J.s
T(K)=T(C)+273,15
0 =5,67x10"% W/(m2-K*)
1u=1,660 539%x10-27kg
mp =1,007 276 u
m, =1,008 665 u
m, =9,11x10-31kg
=0,000 549 u

MeV _, 782 662x10-30kg

o
1u=9315 MeV/c2
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W=Fs cosfp, K =1muv?
U, =5 ke? U, =mgy
E-K+U P- A(énergie)
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p=mv Zl_if :Zi’i
U,=qV

Relations mathématiques

Addition de sinus

sina+sinb = 2c0s"7‘bsin“7+b



